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<p>SRAKET, Hik FNaaioiE. </p>
<p>BSEUEERNSEIRIT. </p>
<p>Point&</p>
<table>

<tbody>

<tr>

<td width="95">
<p>ld</p>
</td>

<td width="95">
<p>HERBFR</p>
</td>

<td width="95">
<p>fwS</p>
</td>

<td width="95">
<p>1tEstR</p>
</td>

<td width="95">
<p>AtR</p>
</td>

</tr>

<tr>

<td width="95">
<p>Long</p>
</td>

<td width="95">
<p>name</p>
</td>

<td width="95">
<p>number</p>
</td>

<td width="95">
<p>x</p>

</td>

<td width="95">
<p>y</p>

</td>

</tr>

<tr>

<td width="95">
<p>Fi#E</p>
</td>

<td width="95">
<p>String</p>
</td>

<td width="95">
<p>int</p>
</td>

<td width="95">
<p>&nbsp;int</p>
</td>

<td width="95">
<p>&nbsp;int</p>
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</td>

</tr>

</tbody>
</table>
<p>8&nbsp;</p>
<p>Linexk</p>

<table width="597">

<tbody>

<tr>

<td width="75">
<p>ld</p>
</td>

<td width="75">

<p>EEmEAIR</p>

</td>
<td width="75">

</td>
<td width="75">

<p>EZmAtEMIR</p>

</td>

<td width="75">
<p> 4R IR </p>
</td>

<td width="75">
<p>KE</p>
</td>

<td width="75">

<p>2EAEIT</p>

</td>

<td width="75">
<p>#HS5</p>
</td>

</tr>

<tr>

<td width="75">
<p>Long</p>
</td>

<td width="75">
<p>from x</p>
</td>

<td width="75">
<p>from y</p>
</td>

<td width="75">
<p>to x</p>
</td>

<td width="75">
<p>to y</p>
</td>

<td width="75">
<p>length</p>
</td>

<td width="75">
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<p>IsAbleBike</p>
</td>

<td width="75">
<p>Int (fa01_2) </p>
</td>

</tr>

<tr>

<td width="75">
<p>FEHE</p>
</td>

<td width="75"
<p>int</p>
</td>

<td width="75"
<p>int</p>
</td>

<td width="75"
<p>int</p>
</td>

<td width="75"
<p>int</p>
</td>

<td width="75"
<p>int</p>
</td>

<td width="75">

<p>Boolean</p>

</td>

<td width="75">

<p>String</p>

</td>

</tr>

</tbody>

</table>

<p>8&nbsp,—HHMKEIER, FKICRFIBIRIZL. </p>
<p>FfEAINEMysqlEUERE, W EIRIIEARERRIESR: </p>
<pre class="brush: java">//point

/7O

/**
*

*/

package com.global.dao;

<p>import java.util.List;</p>

<p>import com.global.models.Point; <br>
import com.global.models.User;</p>
<p>/**</p>

<ul>

<li>@ <a href="https://Id246.com/member/author" aria-name="author" class="tooltipped _
ser" target="_blank">author</a> : XlJ&Z</Ili>
<li>1eBg: </li>

<li>fHE: 2015 F 9 A 21 H<br>

*/<br>

public interface PointDAO {<br>

void save(Point point);<br>
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void delete(int number);<br>

void delete(long id);<br>
List&lt;Point&gt; findAllPoint(); <br>
Point find(int number);<br>

Point find(long id); <br>

y</li>

</ul>

<p>//line #EO<br>

package com.global.dao;</p>
<p>import java.util.List;</p>
<p>import com.global.models.Line;</p>
<p>public interface LineDAO {<br>
void save(Line line);<br>

void delete(long id);<br>

void delete(String mumber); <br>
void delete(int from,int to);<br>
Line find(String number); <br>

Line find(int from,int to);<br>
List&lt;Line&gt; findAll();</p>
<p>}</p>

</pre>

<p>XRAZBEM, EHEFEERSTINXLIE,

<p>HUEHT, MALHTERIETY. HARINR, ,J\JJDQ)%HBM‘I'/AEI’JET;J_ =R B SEUE A A _EERZ

MALLTY ., </p>
<p>ZE—MHIFIE, 7w ﬂﬂ_mﬁ?ﬁx </p>
<pre class="brush: java">// N hng
[ BIaEERBFPBARNSE
* @param fromPoint
* @param toPoint
* @param lenth
* @param ableBike
* @return IR[EIZER
*/

@RequestMapping(value = "/addLine", method = RequestMethod.POST)
public @ResponseBody NetResult addLine(HttpSession session,

@RequestParam(required = false) int fromPoint,//
@RequestParam(required = false) int toPoint,
@RequestParam(required = false) int lenth,
@RequestParam(required = false) boolean ableBike)

NetResult r=new NetResult();

LineDAO Idao=new LineDAOImpl();
if(ldao.find(fromPoint, toPoint)!=null) {

r.status=-1;
rresult=" E',T_Y_ IZSERER",
returnr;

}

else {

Line line=new Line();

PointDAO pdao=new PointDAOImpl();
Point from=pdao.find(fromPoint);
Point to=pdao.find(toPoint);
line.setFrom_x(from.getX());
line.setFrom_y(from.getY());
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line.setTo x(to.getX());
line.setTo_y(to.getY());
line.setAbleBike(ableBike);
line.setNumber(fromPoint+
line.setLenth(lenth);
Idao.save(line);

r.status=0;
r.result="70pI0";

+toPoint);

}

returnr;
}</pre>
<p>&nbsp;</p>
<p>EfthEl, </p>
<p>&nbsp;</p>
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